SAMPLE QUESTION PAPER FOR PRE-MEDICAL APP

ENTRY TEST SPRING 2024 ADMISSION [BSCS]/[BSS

Instructions: Each Question has 4 possible answers (A, B, C, D). You have to fill the circle on FACE S

ANY ANSWER ON THIS QUESTION PAPER.

&

to correct answer. DO NOT WRITE

Q1.  Which of the followings makes connecting link between reptiles and

mammals? Q1e. Whid(&e of ollowing is an example of predator-prey relationship?
‘ A ‘ Prototheria ‘ B ‘ Eutheria ‘ C ‘ Metatheria ‘ D ‘ Osteichthyes ‘ A | Fox a Funfus and Plant and | D | Flower and

Rab lgae Root Insect

Q2. In the absence of oxygen, yeast cells produce ? nodule

A | lactic B | Pyruvate C | Lipids D | Ethanol 4 bacteria
acid x(
. JWhich biome has been increased in area by human activities?

Q3.  Which enzyme digests carbohydrates? A | SaWanna | B | Grassland Desert D | Coniferous
‘ A ‘ Lipase ‘ B ‘ Trypsin ‘ C ‘ Pepsin ‘ D ‘ Amylase forest

Q4. Earthworm is a common example of: . _ _
| A | Detritivores | B | Herbivores | C | Carnivores | D | Omniv Q18. The percentage of nitrogen in human body mass is?

A | 65% B [10% [C [3% D [2% |

Qs.

The excretory system of flatworms is composed of

‘ A ‘ Ganglia ‘ B ‘ Nephridia

‘ C ‘ Flame cells ‘ D ‘ Nep

Q19. The Baterium that is most commonly used in genetic engineering

18?

A ‘ Escherichia ‘ B ‘ Klebsiella ‘ C ‘ Proteius

‘ D ‘ Serratia

Q20. Staining material of gram positive bacterium is?

A

Fast
green

B

Haematoxylon

C

Crystal
violet

D | Safranin
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Q21. Count the number of rectangles in the given figure.

"R, S, T and U. They professions are

Engineer, Doctor, TgacherNgalegman, Manager and Lawyer.
‘ A ‘ 71 ‘ B ‘ 20 ‘ C ‘ 18 ‘ D ‘ 15 ‘ (1) There are arried couples in the family.
(i1))  The er 1 grandfather of U, who is an Engineer
Q22. Ofthe 80 students in class, 25 are studying German, 15 French and (i) R, Sakgman,’ts married to the lady Teacher

erof Uand T.

13 Spanish. 3 are studying German and French; 4 are studying French and (iv) ) X
, S is married to the Manager.

Spanish; 2 are studying German and Spanish; and none is studying all 3 (v)
languages at the same time. How many students are not studying any of
the three languages?

(A ]18 B [27 ['C [36 (D [53 | A

W=Mmany male members are there in the family?
‘ B ‘ Three ‘ C ‘ Four ‘ D ‘ None of these

Q23. A shop owner decreased the selling price of a pair of shoes fgdm What is the profession of P?

$25 to $22. By what percentage was the price decreased? rLawyer | B | Lawyer or | C | Manager | D | None of these
[A]12% [B[135% |C[15% |D |10% Teacher
Q24. A certain animal in the zoo has consumed 39 poundg of 0 51X A QIZ)9Q an\glho ge thleutjwa(;glgrlfled éoupll)%s ;E(;he fag lly;S and RQ
days. If it continues to eat at the same rate, in how many days will its SR SR
total consumption be 91 pounds? A
(A L15 B [12 [c 9 €N | Q30. What is the relationship of P with T?
o i ) ‘ A ‘ Father ‘ B ‘ Grandfather ‘ C ‘ Mother ‘ D ‘ Wife ‘
Q25. If the sum of three consecutive inte less\ti®n 75, what is the
greatest possible value of the smallest one4
A 23 |B |24 [Cc |2 D”] 26 |
Q26. In a class there are 27 studﬂ re 7 more girls than boys
in the class how many students gre gitg!
A 17 B |17 0y |[D[23 |
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Q41. Choose the word most similar in meaning to the following word?
RESTIVE
‘ A ‘ Restful

‘ B ‘ Restless ‘ C ‘ Crucial ‘ D ‘ Pause ‘

Q42. Choose the word opposite in meaning to the following word?
EFFICACY
‘ A ‘ Strange ‘ B ‘ Inefficiency ‘ C ‘ Effectiveness ‘ D ‘ Well-known ‘

Q43. Recognize the relation between the given pair of words. And, select
the pair of words from the given options that best expresses a similar
relationship?

CARPENTER: SAW A | hist \yinternational C |policies | D | present
A | athlete: |B |assembly: | C | mason:wall | D | reaper : sickle position character
runner member

Complete each of the sentences. (44 — 45)

Q44. If you go into the park alone at night, watch
pickpockets.
‘A‘upfor ‘B ‘upto ‘C ‘outto ‘D ‘outfor
Q45. I’ve had so many other things to do latel)ﬂ I’;e zllen
my studies. Never mind, I’ll soor catciNgp.
A | behind B |away with | C | down D | behind to

with with

Read the following passage and answe Wg questions from
46 to 50.

Yons are brought in to close
is ¢ssential, as never before, that
ould be diminished, that they

At this stage of civilization, when
and vital contact for good andN\egd
their gross ignorance of gre a

should begin to understand a little o
and resulting mentality.
It is the fault of the English to gage e people of other countries to react
as they do, to political and irfernatgnMpsituations. Our genuine goodwill
and good intentions are Q Rughj to nothing, because we expect other
corrected if we knew the history, not
necessarily in detgibut pad outlines, of the social and political
conditions which. given to each nation its present character.

Q46. Ac;@the author of 'Mentality' of a nation is mainly product
of its

nother's historical experience

N e need for a greater understanding between nations
%v'as ways there B | is more today than ever before

no longer there D | will always be there

Q48. The character of a nation is the result of its

A

mentality | B | cultural C | gross D
heritage ignorance

socio-political
conditions

Q49. According to the author his countrymen should

A | read the story of other B | not react to other actions
nations
C | have a better understanding | D | have vital contacts with other

of other nations nations

Q50. Englishmen like others to react to political situations like

A

‘ us ‘ B ‘ themselves ‘ C ‘ others ‘ D ‘ each other
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